PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
30th July 2016, 03:00 PM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fope T;{ﬁl'l'{
St 3T T Sy wd el  9v § 9 2

Statements: / HYH:

Some sofas are chairs / $© A% HRII &

Some chairs are tables / $© HRiUI ¢9d &
Conclusions: / fAehd:

I. Some chairs are not tables / I. $© $Rigl g7 781 &
II. Some tables are sofas / II. $© ¢ad | &

® Only conclusion I follows / Fad ey 1 Headr %

® Only conclusion Il follows /W ﬁwcf Il ﬁﬁ?ﬂ %

® Both conclusion land Il follows/@Fﬁ' foeed 1 GﬁT II ﬁwﬁ %

® None of the conclusion | or Il follows / fpdrarraa a?rs‘ qﬁ IECNGI %
Correct Answer :=-None of the conclusion | or Il follows / ﬁ'@ﬁf 191 II | ﬁ Tﬁé T'|€T IECASGI %
2)

Question Stimulus :-

In the following question arrange the given words in a meaningful sequence and then
choose the most appropriate sequence from among the alternatives provided below: /

Fafafed uy ° e arde w9 ¥ Tl o et #3 3R 39 918+ iy T fAed o @ eaw suge
3P BT TIT DI

1. Leaf 2. Fruit 3. Stem 4. Root 5. Flower

1.071 2. %d  3.%MEl 4.9§ 5. %d
e 3,4,5,1,2

e 4,1,3,5,2

()



* 4,3,1,2,5
e 4,3,1,5,2
Correct Answer :-4,3,1,5,2

3)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawey ﬂﬁﬂ,ﬁ' TP o €Y
GEICAEEIG R ke i

Amir is a good actor and Sharukh is a good actor. / SR TP 3= SffH=aT g aﬁvmw
3=y fiear 7l

e It is not True / True that either Amir or Sharukh are good actors / 9§ 9§ :lﬁ% /
I g T a1 at onfiR a1 v 3=y oifimar €

e Itis not True / True that Amir and Sharukh are good actors / 95 94 T-l'e?r% VA %
o onfiR oik wvw oy eifiAar &

e Amir is a good actor / TR T& 3= SATYAAT &
e None of the above / SWRIad ®I5 A8l

Correct Answer :-It is not True / True that either Amir or Sharukh are good actors /

I 9 T8t ¢ / 9 § 5 a1 af iR a1 3o o oifmar §

4)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg o ﬂﬁE
St fow T HyAY vd fAewul & 9k o 98l g

Statements: / ®YH:

Some powders are scents / S UISST g

Some scents are creams / P9 %A W %

Conclusions: / fAssd:

I. Some powders are not creams / I. $9 USSR ot qﬁ%

II. Some scents are not creams / II. $9 34 g Hﬁ%
® Only conclusion | follows / Fad frepd I APpadr %
® Only conclusion Il follows / BT e 1| aar @

@)



® Both conclusion l and Il foIIows/?.‘aT-ﬁ ey 1 3T 11 Frped %
® None of the conclusion | or Il follows / ey 1ar II @ aﬁé T'Iﬁ Frodar %
Correct Answer :-None of the conclusion I or Il follows / frepd 1aT IIH @ aﬁ‘s‘ T8I Feadr %

5)

Question Stimulus :-

If R is the mother owa’s father ande is the mother- Q, we may say that P is the .......... of R.
JURR, QP NI PIHIZTI P, Q BIHI S, TH PE TP & 1P P, R Pl wueee gl
® Mother / |t

® Mother-in-law / |dTH
® Daughter-in-law / 9§

Aunt / 3fidt

Correct Answer :-Daughter-in-law / 9g

6)
Question Stimulus :-

Which of the following important rivers does not flow into the Bay of Bengal? / fraferaa Wm |
P Y e B TSt H YT U T I8 82

® Brahmaputra / 19

® Ganges / T
® Godavari/ Tﬁ?ﬁﬂ
® Narmada / 7'I'FTET

Correct Answer :-Narmada / THal

7)
Question Stimulus :-

1. In a family of six persons, there are people from three generations. Each person has
separate profession and also they like different colours. There are two couples in the

family. /1. ©: @ & o URER | dF Al Gt didl @ €1 57 TP T Ia9rd 3ierT § SR I SrerT |1
T §1 957 uRar & & gira B

2. Rohan is a CA and his wife neither is a doctor nor likes green colour. / 2. A8 TS
AEHR § 3R Uell 7 Sidex @ 7 39 8 ¥ Wig 2l

(4)



3. Engineer likes red colour and his wife is a teacher. / 3. SR BT 8 T TG % 3R ITq@!
Tet g 7

4. Mohini is mother-in-law of Sunitha and she likes orange colour. / 4. Aifg<l Glar &1 G~T &
AR I IRt T wig B

5. Vinod is grandfather of Tanamy and Tanmay,who is a principal, likes black colour. / 5.

fa e T9g & <reT ® SR a9HY St UYEN €, S/ Sar 37 ude 2

6. Nanu, granddaughter of Mohini and she likes blue colour. / 6. Iﬁ'%T-ﬁaﬂﬂ'Rﬂﬂ'E[, forg e
T 1¥g B

7. Nanu’s mother likes white colour. / 7. I @1 Ul & Ylbg T S ¢l

Which of the following is the correct pair of two couples? / g 9 3 s1=h UL \‘rﬁ@ﬂ gt %?
¢ Mohini-Vinod & Rohan-Sunita / ﬁ%ﬁ-ﬁﬁ‘\?{ & ﬁ?ﬁ-ﬁﬁ?ﬂ
¢ Vinod-Mohini & Rohan-Nanu / ﬁﬁz-ﬁ%ﬁ’r & ?ﬁ:ﬂ a1
* Rohan-Sunita & Tanmay-Nanu / ﬂﬁ-ﬁﬁ?ﬂ & dHHY-AT]
e Can’t be determined / fffya =g} fooam s Tar
Correct Answer :-Mohini-Vinod & Rohan-Sunita / Aifg-i-faie & g-gfar
8)

Question Stimulus :-

If the figure on left is folded to form a cube, then which of the following options is the face opposite to the face shown

at the right? / afe It 3R W pfa & ¥4 $ T T4 & o wics frar wrar €, @ Py o 4 9@
DI I fywen § Bas il iR fear ™ was & faudia g2

NN
L o

o
A
AR

(®)



Correct Answer :-

9)
Question Stimulus :-

The Kakatiya dynasty was based in which modern day, Indian state? 3T ’é{&ﬁﬁ YRd & {5 39 # Srpriaar
TSy U T

® Andhra Pradesh / Gﬂﬂm

® Karnataka/ HAICP

® Tamil Nadu / GfHeATg
* Kerala/ ®3d

Correct Answer :-Andhra Pradesh / 39 Te=T

10)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawea ﬂﬁl’l'-{,\_rﬁ TP DI i
" fer T YT F TEE 7

If Rama scores above 70 in English, then he passes the exam. / afe IrAT e # 70 T St
3/ YT T g, ol 98 UI&T & I<iot giar 2

e If Rama didn’t score above 70, then he will not pass the exam. / afe ITHT 70 9 3t
3% 5 U HRdT g, of a8 e § S<vf 7Y g 31

e If Rama passes the exam, then he had scored above 70. /trﬁwu'\ﬁ&nﬁa?ﬁvfam%,
N I 70 T 3fUP 3 U o B

e If Rama failed in the exam, then he didn’t scored above 70. / af¢ ITHT Utem & SF;Eﬂ'Uf
BT 8, a1 3T 70 A 3w i Tg) Wt fomd g1

¢ None of the above / maﬂiqﬁl

Correct Answer :-If Rama failed in the exam, then he didn’t scored above 70. / afe IrHT

TYem o Srgehiol 34T 8, a1 39+ 70 ¥ Sife 3iw 81 ur fopal Bl
(6)



11)

Question Stimulus :-

Who among these was the wife of a Mughal emperor? / fFrafaaa 7 @ o4 TP HIeT JUTC P I A2
* Rani Lakshmibai / YT W&HIaTS

* Razia Sultan / 3IforAT o+

® Nur Jehan / T'BWFT
® Joan of Arc /\_rﬁ:fﬁf\fq?v?rl'l'c;?

Correct Answer :-Nur Jehan / HRFIE\T'

12)

Question Stimulus :-

A farmer grows 4 crops- A, B, C and D, not necessarily every crop in every year. A is grown
between the months Jan-May, B between April = July, C between June -October and D
between September-January. Each crop takes 3 months from sowing to harvesting. At a
time only crop can be grown. / Qﬁﬁ?\"{ﬁ WW?[BTHT-IT% -A B, C 3R D, aﬁwqﬁ&'ﬁﬁ
HId 91 B3 T ST A SO -T3 & o9 § SR oIl 8, B e - Jams #, C 57 -3agaR 3k D Rawr
-SHadl #1 Th U g3 9 $els g 8 3 7eH ddl 81 TP aR A R U waa S o 9%l gl

Farmer starts in the month of January by sowing A. If there is a gap of 1 month between

each crop, when would C be harvested? / {1 A ®1 a3 3R WG & AEH # IR= H=aT 81 TS
TP B P ST 1 HEIH BT 3eR1d 8, 99 C H9 i1 SR

® July/ ﬂ'ﬁTg

® August / 3T

® September/ [BiGEES

® Cannot be harvested /mqﬁﬂﬁ ST bt |

Correct Answer :-Cannot be harvested /am%q%’taﬁmaﬁﬁl

13)

Question Stimulus :-

Indian Institute of Science Education and Research (IISER) is located in which of the following districts of

Madhya Pradesh?/ HTRA 14 faqIT= fRI&1T T SrgEem™ SR (LISER), WeA W= & o fovw foral o fRua 2
® Bhopal / yiura



* Indore/EalX
e Gwalior/ TR

¢ Jabalpur/ SI§cIqY

Correct Answer :-Bhopal / HTUTd

14)

Question Stimulus :-

The present CEO of Microsoft is / W'HTTE ¥ TAATT '\‘ﬂ'&‘aﬁ B
* Sundar Pichai / &¥ g
® Satya Nadella / HT arsdr
® Nikesh Arora / IBE] GR-']GT
* Bill Gates / 9@ Teq

Correct Answer :-Satya Nadella / TdT TSl

15)
Question Stimulus :-

How many times was MK Gandhi nominated for the Nobel Peace Prize? / HeIHI ieh ﬁﬁaﬁw%ﬁﬁ
fopa=it AR AHifeha foram T2

Correct Answer :-5

16)

Question Stimulus :-

The State which is known as the ‘Granary of India’ is / forg Isa | oY "YRd & 3T HER' & U | 14T SITal

gl
® Kerala/ W

(8)



o Uttar Pradesh / G?I‘\”;I%QT
° Haryana/?ﬁ'ﬂTU'IT

® Punjab/ UEIC

Correct Answer :-Punjab / USITd

17)

Question Stimulus :-

Where is the seat of High court of Madhya Pradesh situated? / HI Wa'fﬂ I ATATd DT d6h ﬁ}fl @ %?
® Jabalpur / SI§TYR
® Bhopal / yiure

® Indore / Ea'\"
® Khajuraho / GORTE!

Correct Answer :-Jabalpur / ST9AYR

18)
Question Stimulus :-

In the following question; four words are given, out of which three are same in certain
way and the remaining one is different. Find out the different one. / IBER'E] ﬁ, IR ¥ f&d
T g, o @ 9 fodl uprR @ U= € iR STa) U 3renT §| STelT aTdT [Td o |

e Rifle / I5Hd
e Pistol / fiReia

e Sword / dddI¥

* Gun / 9¢P

Correct Answer :-Sword / dddiR

19)
Question Stimulus :-

What is the full form of CERT-In, an agency set up under the Information Technology Act, 2000? / WW,

AT Wit siftfem, 2000 ¥ dea wufta, WS emd-37 &1 R A T |2

¢ Information Control Emergency Response team / T forioT eMuTemTeN ufdfehar &a
(9)



® [Indian Computer Emergency Response Team / YR W STUTEpTeN Ufafspar g
® Indian Computer Examination Review Team / HIRd1d DY TRI&T aeite g

® Information Control Examination Review Team / X[l forizror wftem edten qa

Correct Answer :-Indian Computer Emergency Response Team / YIRdTd HHR STUTeh T Ufafspar
qd

20)
Question Stimulus :-

Who introduced the Doctrine of Lapse / ITod UgRUT Hifa & feua Ry foear ur?
® Lord Wellesley /aﬁﬁﬁiﬁ
« Warren Hastings / aH gl
® Lord Dalhousie /?ﬁ%m
® Lord Cornwallis / ATS PI-arery
Correct Answer :-Lord Dalhousie / TS SagT3ull
21)

Question Stimulus :-

B.R. Ambedkar was elected to the Constituent Assembly from / d1.3MR. s HT _'\ﬁ g™ 9T & forg gﬁ'
MY A

® West Bengal / i3 S
® The Bombay Presidency / aa'é PRIEL)
® Madhya Pradesh / HH T

* Baroda/ 9SIal

Correct Answer :-The Bombay Presidency / CEER GIER:N

22)
Question Stimulus :-

is the world renowned mathematician born in Gwalior who has an algorithm named after him? /

arferar o a1 gU fay wlrs ey € o9e 9 R te Tanfye &1 A 82
® Narendra Karmakar / WW

(10)



® Manjul Bhargava / He[d yrfq
® Mangala Narlikar / H3Tall AT (R

* Anand Kumar / 3{Fig $HR
Correct Answer :-Narendra Karmakar / T PHDT
23)

Question Stimulus :-

Six people P, Q, R, S, T, and U are sitting in a circular path who are facing the centre. R
is third from P in the right. Q is third from T in the left. U is between Pand Tand S is
third from U in the left. /P,Q,R,S,T, 3 U T8 dfdd &= 31 3R 4W f$HU g & qureR td § 9
BTG RPIATNRI G T RE QTATRIZIU,PIRTHFIT TGRS, Tt B U A
Fr=T 81
Who is opposite to T? /T & faudta P 82

e S

° Q

e P

e U
Correct Answer :-Q
24)

Question Stimulus :-

How many times 'I’' exceeds 'S’ in the word ‘DISSIMULATION'? / ‘DISSIMULATION’ Rlcg
1 fpaa A s’ A 3Afte 82

e 1
° 2
e 3
° 4
Correct Answer :-1

25)

Question Stimulus :-

(11)



Five persons A, B, C, D and E are sitting around a table. C is.to the right of A and second to the left of D. E is not the only
one between A and D. Who is second to the left of C? / UId fad A,B,C,D Ud E Th AY P IRI MR IS %I C,
AT TS IR TIDF IR IR ATR VMR E| ATID S AW E TH A T8l 8] I8 DI g &l C & 15
3R A R R W 8?2

e E

e B

e D

e A
Correct Answer :-B
26)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 9§ fawe ﬁﬁﬂ'{
it fRE U $yAY vd fArewul & T § 9 21

Statements: / YH:
No sea is ocean. / ®Is UHS INR 8l gl
No ocean is pacific. / ®Is INR U= g1 &l
Conclusions: / e
I. No sea is pacific. / I.®Is 9% U=iid 8l gl
II. All pacific are ocean. / II. 4 U2id HEFFR &1
® Only conclusion I follows / Had foreed 1 Freear %
® Only conclusion II follows / Faq ey 11 feaarn %
® Either conclusion I or conclusion II follows / 9T @ ﬁl’W‘Sf I 91 i ﬁmmf 11 fFreadar %

® Neither conclusion I nor conclusion II follows / 7 dl frspd I frpaar % M T gl frspd 11

Correct Answer :-Neither conclusion I nor conclusion II follows / T dl forspd I fAradr % MR Bl
ey 11

27)
Question Stimulus :-

The Constitution (One Hundredth Amendment) Act received the assent of the President in / Tfaer @’Cﬁ

|=irer) srfufrag &t T Ireufa 3t Geufa urqd g3 A

(12)



* 2008

® 2009

® 2015

* 2014
Correct Answer :-2015
28)

Question Stimulus :-

The Pakhawag is a / QTdGl % Th:
® Percussion instrument / G¢-dT<]
® Wind instrument / JAR T
® Stringed instrument / ?iﬂ-aﬁ]
® Other / 3

Correct Answer :-Percussion instrument / Uc¢-dlel

29)

Question Stimulus :-

Delhi Gate is located at . /ﬁ'c_vﬁ e ) R %I
e Sondhani / AFYTT
* Mitaoli/ firdtett

* Mandu/Hig

e Padavali / UGTdalt

Correct Answer :-Mandu / Hig

30)
Question Stimulus :-

Which is the second largest Indian state by area? / BT T aﬁ' QI EE] CEl YR TS %?

e Andhra Pradesh / 3T u%m

(13)



® Gujarat / T[OIRTd

e Uttar Pradesh / 3xI¥ U%QI'

® Madhya Pradesh / %I WX
Correct Answer :-Madhya Pradesh / W WX
31)

Question Stimulus :-

The minimum age for a voter in India, as envisaged in the original version of
the Constitution of India was / HRd & WAY & A TIHI0N § URBICUd, R & TH

HdardT & forg graaw 3y &t

e 21 years/ 2194

e 25 years / 25 GL

e 18 years/ 18 a¥

* 16years/ 16 9Y
Correct Answer :-21 years / 21 @
32)

Question Stimulus :-

CANCELLED

If Anitha is taller than Surjith but shorter than Kusum. And Surjit is just as tall as

Kalpana but taller than Vanitha, then Kalpana is /af¢ 3 tdr gﬁﬂ'cr ¥ ddl %WW q AT B
3R FReig AT & gl 8 gt & Heu=r W) atar ¥ @&t g, aF Heur

e Just as tall as Anita / 3f-rar forasit &dt 8
e Taller than Kusum /$JH ¥ |l @

e Shorter than Anita / 3fffar @ Tt 8
 Shorter than Surjit / goild I ATEr

Correct Answer :-Shorter than Anita / 3if~dar 9 =t g

33)

Question Stimulus :-

(14)



Where river Tapti does originates from . / & ATt ¥ fread! %’I

® Moorum Nalla / §3H ATl
« Raisen District / IGa= foram

® Amarkantak / STHYGCH

e Multai / Haarg

Correct Answer :-Multai / ﬂﬁ'cl'ﬁ-‘f

34)
Question Stimulus :-

If Monday means a cheerful day, and it’s not Monday today, then it's a lousy day. / gfe

WHIR $T Aaad GE &7 §, 3R 3o THaR gl §, o 98 989 WE 3 81
* True / T3l
* False / Tdd
¢ Maybe / § U&HdT §
e Irrelevant / 3URIR®
Correct Answer :-Maybe / 8 J&dl 8
35)

Question Stimulus :-

A blacksmith has five iron articles A,B,C,D and E each having a different weight. / T& R
% URT A,B,C,D 3R E UTd 8% TP 3 HRATA! dle 1 gl gl

1. A weighs twiceas much as B. / 1. A DT UR B @g‘TFIT%I

2. B weighs 4 and a half times as much as C. / 2. B T UR 4 3R C ¥ AR %I
3. Cweighs halffas muchas D / 3. D dcC Wlﬂ?&ﬂ%ﬂ%l

4. D weighs half as much as E. / 4. E ¥ D &1 4R 3T g1

5. E weighs less than A but more than C. / 5. E &1 4R A ¥ $H 3R C ¥ ST 81

E is lighter in weight than which of the other two articles? / E T UR ®H g o &I A g &t
T a2

(15)



e AB
e D,C
e AC
e DB
Correct Answer :-A,B
36)

Question Stimulus :-

The Banaras Hindu University was founded by / IR %_';g{ fayfoenea &1 RiryAT foa® gRT ot Tl's; A
® Raja Ram Mohan Roy / ITSIT ITH Iﬁ'{v’:f I
® Madan Mohan Malaviya / Hg 'Fﬁ?'_-[ HTadg
* Bal GanagadharTilak / 9Td TRITER IGED
* A.O Hume /.31 g9
Correct Answer :-Madan Mohan Malaviya / Hg Tﬁﬁ ATy
37)

Question Stimulus :-

‘Stammering’ is related to ‘speech’ in the same way as ‘deafness’ is related to? / Gh ATl Tafta vryop | It
THR A § o avg aftRar J&fita g v

® Ear / BIH

® Hearing / AT

® Dumb / dgxT

* Silence / TTHIRI
Correct Answer :-Hearing / g1
38)

Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose the fourth term from the
following options which has a similar kind of relation with the third term. / Fauy 'ef, lrs'@r o tl'E.Pf & o= fo=ht
TR 9 $Is Sa¢ 3] 7 fawet d I <0tar e g+ e R ug & a1y 3 uerR &1 9y 3|

(16)



Walk : Run :: Breeze : ? / TCI-T : a_{-'FIT : HIN : ?
® Cold /38
* Fast / AW
® Wind / &dl
* Breathe / YT T
Correct Answer :-Wind / &dl
39)

Question Stimulus :-

93" Constitution Amendment Bill seeks to /93 d HfQeT T=Ne fadas H13ET =

® orant statehood to Telengana / AT B 359 BT Golt Sl Bl

® make elementary education compulsory / YRS ﬁT&‘IT P 3ffard ST

® make army service mandatory / JAT Ja1 H) Srfard ST

e grant statehood to Chhattisgarh / E?ﬁﬂ'ﬂ'é P I5T BT ol S{ I HIAT
Correct Answer :-make elementary education compulsory / WU FR1&fT P 3rfrrard =T
40)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawey ﬂﬁm’,\_rﬁ qH DI Gl

TR HFA S I :

It is not true that both rose is a flower and tiger is an animal /quﬁ%ﬁ?ﬂﬁﬁww
8 iR 919 U& e |

* Rose is a flower and tiger is not an animal /WW@%@?WWW?&%

* Rose is not a flower and tiger is not an animal / @9 TH §d -Tel 8 3R 94 TP SR 81

g

* Rose is not a flower or tiger is not an animal / a9 T Fd &l § UT 979 T SITHGR 81 ©

e Rose is not a flower and tiger is an animal / @19 T {d el & 3R T4 TP SR &

Correct Answer :-Rose is not a flower or tiger is not an animal / @9 U% §d 781 € 9T a1
TP SaR Tt @

(17)



Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

Lla Lyl Ll Ll
Simplify & 3 i ¢ 12 / & 3 4 & 12 WA FIRT
° 4
e 3
°* 2
e 1

Correct Answer :-1
2)
Question Stimulus :-

B is faster than A. A and B each walk 24 km. The sum of their speeds is 7 km / hr and the sum of times taken by them is 14

hours. Then B’s speed is equalto;/BAﬁa\_ﬂ'%l Aaﬁ?BWM ﬁﬂ:ﬁ?ﬁlﬁ'%l Fﬂﬁmmm%7%ﬂ/ﬂ%
3R 37T §RT A TUF BT AN B 14 T | 99 B B Tfd SRTaR g

® 3km/hr/3 fHdiEer

e 5km/hr/ 5 fodi/Eer

e 7km/hr /7 fpHi/EeT

e akm/hr/ 4 fopHtrder
Correct Answer :-4 km/hr / 4 foHi/ger
3)
Question Stimulus :-

If 173 means ‘never again, sir’ and 375 means ‘sir, try again’, what is the code for ‘try’? / 'Qﬁ' 173 T Hddd %‘never again,

sir’ Gﬁ? 375 DI Hddd % ‘sir, try again’, ar ‘“try’ & ford =1 PIs %?

(18)



5
Correct Answer :-5
4)
Question Stimulus :-

CANCELLED

Shankar purchases a pump at 4/5 of its catalogue value & sold it for 12%_ more than its catalogue value.
What percent of profit did he earn? / - A T 4T IS Tl oI A 4/5 B w@RieT R 3 Tl T & 12%
el & a1y ¥ 99 a1 39% $d a1 o1 uia=d |82

* 14%

® 15%

* 16%

* 17%
Correct Answer :-15%
5)

Question Stimulus :-

Three unbiased coins are tossed. What is the probability of getting two heads? /?ﬂ:[ ﬁrm&rﬁaﬁa T FI'I?[%I 2% e
3 P YUTTAT T 82

* 3/8

* 1/2

° 1/4

® 7/8
Correct Answer :-3/8
6)

Question Stimulus :-

In a certain code language, pik nik tik means work very hard, dum dam nik means make it
hard, kik pik sik means heavy work load. Which is the word for very in that code language?
/ T @ BIs W H, pik nik tik &1 Adad g work very hard, dum dam nik &1 Adad & make it
hard, kik pik sik &1 Udad § heavy work load| 3 &8 YW ¥ very & T oum oIt 82

* pik

(19)



® nik

* tik

® dam
Correct Answer :-tik
7)

Question Stimulus :-

When 5 is added to twice the number of people in a house, we get 15. How many people

are there in the house? / 91 WX # @NT $1 BT & G § 5 HI Sel 9AT 3, a9l g4 15 Baar 3| W
fPa arr g2

e 4
e 3
5
e 1
Correct Answer :-5
8)
Question Stimulus :-

The below series uses a sequence of alphabets and numbers. Identify the
incorrect combination. / =& 3 7S s@ar 3eRl TE T=ARH BT ATHH YA Bl 3| TAd JaeH
A |

(i) ST456ST7

(ii) ST456ST7
(iii) ST457ST7
(iv) ST456ST7

® i

(20)



Correct Answer :-iii
9)
Question Stimulus :-

In the sequence shown below, which figure comes next? / R @R T wu & snrel
ATHfa B At grft?

(I o @28 dec &0
9P eHe 2e¢ @90
&HHe eos 80 L 1 ]

YL
e0e
08

beod
L2
L L A

eee
e
L1 =

&9 9
ead
UL LU

&9 9
LA L)
el

Correct Answer :-

10)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬁlﬂ 3[&R gADY el I QA aﬁﬁrq : aab _aa_bbb_aaa_
bbb

® abba
® baab

® aaab

(21)



® abab
Correct Answer :-baab
11)

Question Stimulus :-

The gain or loss percentage for a radio costing Rs. 400 when sold for Rs. 4207 / ul%w“\r%u’rfﬁm 400
FTUT § 3R 98 420 =UT § 91 ST §, F1H T 81 BT dl B3|

® 5%
* 10%
* 30%
® 40%
Correct Answer :-5%

12)
Question Stimulus :-

What is the minimum number of straight lines required to make the following

figure? / 9 anpfd B 9 & o <gaaw T | fea-t Akt Yaren @t smazasar gz

Correct Answer :-8

13)
(22)



Question Stimulus :-
Complete the series choosing the missing number: / AW TBAT TAH @1 BT T DI :

19,2,38,3,114,4,
° 228
® 256
* 352
® 456
Correct Answer :-456
14)

Question Stimulus :-

A can do a work in 15 days and B in 20 days. Both of them work for 6 days then the remaining work is / A ot

PH B 15 A AR Iparg 20 RAIAI 6 TP R s FA§ A Av ol 8

Id | —

|

Correct Answer :-

15)

Question Stimulus :-

In a certain code language, Red color chalk means 367, Yellow color flower means 691,
White color chalk means 356. Which is the number for White in that code language? / f&<
W B T ff, Red color chalk ®T Hddd g 367, Yellow color flower &1 Hddd g 691, White
color chalk &1 Hddd g 356| I ®Is HINT # White & forT =1 I 82

(23)



e 3

e 5

e 9
Correct Answer :-5
16)

Question Stimulus :-
The average weight of 16 boys in a class is 55.25kgs and that of remaining 8 boys is
50.15kgs.Find the average weight of all the boys in the class in kg? / T® PUTP 16 asaﬁm
3Ed g9 55.25 fSAu™ g 3R A9 8 dSH! &7 50.15 fheumd g Fam & 9+t a1 &1 fbeum &
3ia ao FeTfene?

® 53.25

® 53.55

® 53.75

e 54

Correct Answer :-53.55

17)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬁ‘?l BER gAD SadT BI PRl ﬁﬁrq : _cb_ca_bacb_ca_
bac_d

® bddddb
® bbbddd
® addddb
® addbbb

Correct Answer :-addddb

18)

Question Stimulus :-

(24)



If 7P310 - 5P95 = Q0615 Where P&Q are representing different numerals; what is the value of ‘P’? / 'qﬁ' 7P310 -
5p95 = QU615 STgT P 3R q fIf T=ies & @ ‘»’ &1 A9 T g2

® 6

Correct Answer :-6

19)
Question Stimulus :-

In a certain language, TRUE is co_ded as XPMZ and MAKE is coded as QRSZ, then MATURE
will be coded as / fFdl WRT HTUT H, TRUE &1 XPMZ I Hifsd f&a1 Siam € 8fik MAKE &1 QRSZ @

Pifsd fban ST 3, A MATURE &1 B Sifsd fasar smm
* ZPMXRQ
« QRXMPZ
« XPRQZS
« QRSPSZ
Correct Answer :-QRXMPZ

20)
Question Stimulus :-

In the followmg question, one term in the number series is wrong. Find out the wrong
term. / 99 ¥ ¥, S©1 4@ A TP U TAd §| TAd UG I DA

8,14,26,48,98,194
* 14
® 48
® 194
® 98

Correct Answer :-438

(25)



21)

Question Stimulus :-
Starting from his house, a student walks at a speed of 3 km/hr, he will be late by 6 minutes. If he increases his speed by 1
km/ hr, he will be 6 minutes early. How far is the school from his house?/ Y WY g]gam?r 84, Uh BT 3 fediseer
D A A Ued Ta@, 6 e T A ug=hm afe ag st 1fa &1 1 freii/der & se1 a1 8, @ 98 6 fire et
TETTI S9% WX A faermea e gr 82

o 2km/ 2 fotit

e 2.4 km/ 2.4 fodt

e 3 km/ 3 &t

e 2.8 km/ 2.8 fodi
Correct Answer :-2.4 km/ 2.4 &+

22)
Question Stimulus :-

A fruit seller had some apples. He sells 42% apples and still has 261 apples. How many apples he had in the beginning? /

Td 99 910 & U $© 99 A1 I 42% IS 59 T &R onfY off 39 U 261 9 71 oA A 9B
U ) A9 A2

® 400
® 450
® 500
® 550
Correct Answer :-450

23)

Question Stimulus :-

Three unbiased coins are tossed. What is the probability of getting all heads? /?ﬂT-I' ﬁm&[ﬁﬁ% L Trl'lﬁ%l I & fae
3 DY HUTGAT T 82

° 1/4
° 1/8
* 3/8

* 7/8
(26)



Correct Answer :-1/8

24)
Question Stimulus :-

How many different seven letter words can be formed using the letters of the word ‘AMERICA’ if repetition is not allowed? /
i gREfa 3gfia E) 8, 99 ‘AMERICA’ TTsg & 31&RT BT AT HP T 31eR & fraq faf zreg 99 9@
2

® 2520

® 1260

® 5040

® None of these/E’Iﬂ T aﬁ'é q’iﬁ

Correct Answer :-2520

25)
Question Stimulus :-
In a certain code language, bright little boy means 234, tall big boy means 256, beautiful
little flower means 748. Which is the number for bright in that code language? / it @ g
PIS YT §, bright little boy 1 HdAd & 234, tall big boy &1 Hadd € 256, beautiful little flower
BT HAAS & 748| I BIS UMW H bright & forg a1 H®=IT 82

e 2

°* 3

° 4

5
Correct Answer :-3
26)
Question Stimulus :-

The population of a town increased from 2,60,000 to 3,32,800. The percentage of population per year is/ Tdh TG Al
SIS 2,60,000 T SEHY 3,32,800 Bl W ufd 9 S=en o ufawradar @

® 25%
® 26%

(27)



® 27%
® 28%
Correct Answer :-28%
27)
Question Stimulus :-

Which is the largest amongst the following? / 19 # 9 a9 9a1 P9 TT 82

3
e

o

|

| e

3
Correct Answer :- #
28)
Question Stimulus :-

Complete the series choosing the missing number: / ﬁﬁ'ﬁ =T DR @l ﬁw Hﬂﬁﬂ! :
1,8,3,6,5,

Correct Answer :-4

29)

Question Stimulus :-

(28)



(12/6)x6-(39/13)x9+(41x2)=?
e 63
* 67
« 81
* 54

Correct Answer :-67

30)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY same as the one
given below? / g 33 T IR ualf & ¥ R 33 A 1d & S TN 9 1 TH 81 82

Mr. I. K. Taneja

Flat No. 100

Triveni apartments
Pitam Pura

NEW DELHI-110034
INDIA

(i) Mr. 1. K. Taneja
Flat No. 100

Triveni apartments
Pitam Pura

NEW DELHI-110034
INDIA

(ii) Mr. I. K. Taneja
Flat No. 100
Triveni apartments

Pritam Pura
(29)



NEW DELHI-110034
INDIA

(iii) Mr. I. K. Taneja
Flat No. 100

Triveni apartments

Pitam Pura

NEW DELHI-110034
INDIA

(iv) Mr. 1. K. Taneja
Flat No. 100

Triveni apartments

Pitam Pura

NEW DELHI-110034
INDIA

® ii
® jy
Correct Answer :-ii

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

Name the instrument based on reflection used to see over the top of an obstacle / IRNY &

i B S F R Uge IT SUSR BT A Fd1¢ il WG WR el g1

® Kaleidoscope / Tg{ﬂﬁﬂ'!lﬁ
® Microscope / ﬁ&ﬂﬂ'&ﬁ

(30)



® Telescope / Qﬁﬁq

e Periscope / uftexff
Correct Answer :-Periscope / URgxif
2)
Question Stimulus :-

Following table shows the sales (in million liters) of alcoholic drinks in the four regions of
India from the year 1999 to 2004. Answer the following questions using the information

provided. / {1 < Tt afereT o 1999 | 2004 9F YR F IR & A Aled ¥g F1 Q! (Il fiex
#) ot fiErdt {1 < i THeR ¥ YR W Ul F IW S

Region J &= 2001 2002 2003 2004
East/9d 138 151 164 177
Morth / 3ta 287 317 339 363
South /giEoT 486 528 560 596
West /! qi¥TT 376 411 433 458
TOTAL/ &t 1287 1407 1496 1594

Which region showed the lowest increase in sales of alcoholic drinks (in million liters) from 2001 to 2004? / Cack:| s

# of 2001 & 2004 TF AleH U9 FI B ¥ a9 7 gfg (Ar@l e #) & 1E2
e East / t[q‘

® North /3t

® South / &f&rur

* West/ufw
Correct Answer :-East / qﬁ
3)

Question Stimulus :-

Following table shows the sales (in million liters) of alcoholic drinks in the four regions of
India from the year 1999 to 2004. Answer the following questions using the information

provided. / s & T} aifersT a6 1999 | 2004 9% URA & AR &A1 & AIEP UG FI fawt (ARGl diex
T) 3 fe@rd 21 < T STFR F YR R U & I 1
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Region / &= 2001 2002 2003 2004
East/9d 138 151 164 177
Morth / 3t 287 317 339 363
South / gi&mT 486 528 560 596
West! FigaT 376 411 433 458
TOTAL/ % 1287 1407 1496 1594

Which region showed the highest increase in sales of alcoholic drinks (in million liters) from 2001 to 2004? / ot J 83[ s |

99 2001 ¥ 2004 TF AGH U B O] # I=ay gfs (arel diex &) ¢t 152
® East/Ud

® North /3T

* South / Gfaror

® West /Uf3@
Correct Answer :-South / gféor
4)
Question Stimulus :-

CANCELLED

A mixture contains milk and water in the ratio 5: 1. On adding 5 litres of water, the ratio of milk to water becomes 5: 2.
The quantity of milk in the original mixture is: / Th frgror # Q¥ AR U 5:1 & SiuTd # g1 5 iex Ut sTeR WX,
U I U BT SJUTd 5:2 8 oaT 81 9 fyor & gy &1 |45 §:

® 16 litres / 16 weR

® 23.75 litres / 23.75 Wlex

® 15litres / 15 @R

® 325 litres / 32.5 Wlex
Correct Answer :-15 litres / 15 @ficx
5)
Question Stimulus :-

The advantage of using CFLs in place of ordinary bulbs / ITYRUT g¢d ¥ R U CFL YART $34 HT 98 BT % :
(32)



® Reduces wastage of current/ﬁ'gq?[ YRT Bt ?ﬁﬁa PH 'e'?l?ﬁ %
® Gives more brightness / e A I B
® (Can be fixed in ordinary bulb holder / HTYRUI ded & Eﬁc_E'R' ¥ fibe ??f Tgpdl %
® All of the above / SURIGT T
Correct Answer :-All of the above / SURIGT
6)

Question Stimulus :-

Read carefully the terms given below. Which of the following sets is the correct combination of organs that do not
carry out any digestive function, /:ﬂ% %Q RILY aal oY W’I’"I'W 'Clé;l frofafaa # 9 -7 qYg urd+d &
# g1 aferfer 19 ardt 3 %1 "l WA §

® Oesophagus, large intestine, Rectum /‘JIﬁTCFT, 'ﬂ@ Gﬁﬁ, HATR™

® Buccal cavity, oesophagus, Rectum / §H [@T, ‘Jl'ﬁﬁﬂ, HARI™

® Buccal cavity, Large intestine, Oesophagus / U e, aﬂ Gﬁ?f, DIGED

® Small intestine, Large intestine, Rectum /@ﬁ?ﬁ Gﬁ?f, 'tﬁﬁ SﬁFf, HATR™
Correct Answer :-Oesophagus, large intestine, Rectum / JT®T, TSI 3ATd, AT
7)
Question Stimulus :-

Few plants inspite of being green derive its nutrition from the insects that graze on it. These plants are called / $©

0 ¥ 19 P Tas[g ST UIYUr 39 HT | U HIa § §if 39 W F59 T A 1 peara §
e Herbivorous plants / THEN 019
® Carnivorous plants / TTRITETRT UIeY
® Insectivorous plants / BICETRT UI&
e Autotrophic plants / SO T

Correct Answer :-Insectivorous plants / Hﬂm 10

8)
Question Stimulus :-

How does the Sun produce heat and light energy? / q& ST 3R UBT Soll P SUH Bl %?

(33)



® By chemical combination reaction. / TS TS Sifyfear |1

® By chemical decomposition reaction. / I foae sifuferar I

® By nuclear fusion reaction. / Ty Saaa sifuferar I

® When lightning strikes. / ST IEEGIRKESI] %l
Correct Answer :-By nuclear fusion reaction. / AfHP I Jaaq 3fufspar A1
9)

Question Stimulus :-

Sound travels fastest in / @< I doit | A ¥ fopad gmm #«dl 82
e Solids / 3T Ul A
* Liquids / 9@ eIyl &
* Gases /Tl
® In both liquids and gases / 93¢ Ugrdl 3R I S o
Correct Answer :-Solids / 319 T &
10)

Question Stimulus :-

In which part of human digestive system the fat is completely digested? / HTFd U< o7 & g urT & g
quf &0 ¥ U= ST 82

e mouth /e

e stomach / 3HTRA™

e small intestine / &g

* large intestine / 98gi A
Correct Answer :-small intestine / &giF
11)

Question Stimulus :-

A reduction of 25% in the price of eggs will enable one to buy 4 dozen more eggs for Rs.

96. What is the price per dozen? / &%%H@ﬁ 25% ﬁaﬂﬁﬁﬂﬁi it 4 o9 Sfdre i 96 Tudl
# wileq § werd Y S| uiY oSl Je T 82
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® Rs.7
® Rs.8
® Rs.9
® Rs.10
Correct Answer :-Rs. 8
12)

Question Stimulus :-

If x2 = 5/9, then the variable x is /e x2 =5/9 AW x g

Rational / URAY =T

Irrational / 3MURAY =T

Whole number / J0f &1

An integer / T® 1{Uﬁ$
Correct Answer :-Irrational / 3URAY =T
13)

Question Stimulus :-

Water kept in a closed container exerts pressure in / & §g U T a1 oA 319 STl § :
e All directions /H?ﬂ fezmen &
* In upward direction / SUR &1 fe=m &
¢ Insideways direction /dTd o =m o
® |n downward direction /T-ﬂ% | ﬂ'SEIT o
Correct Answer :-All directions / 9+ fazmaff &
14)

Question Stimulus :-

From which of the following organism is the Silk fibre obtained? / faddfpaceawRE S aﬂ Ured
gid &7

® Avians /m ﬁ
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® Reptiles / m |
 Moths / JTAYH &
® Mammals / Ty 9

Correct Answer :-Moths / AYH 3

15)

Question Stimulus :-

The rational number lying between -1/3 and % is ./ -1/3Td Y & A AN Irell URAT =T
%
« 12
-1
o 12
1
o —12
-1
e —12
1

Correct Answer :-12

16)
Question Stimulus :-

Following table shows the sales (in million liters) of alcoholic drinks in the four regions of
India from the year 1999 to 2004. Answer the following questions using the information

provided. / T & i aiftreet af 1999 | 2004 T YR & IR &A1 § AGH U I [t (Tl efiew
#) & feard 81 & T STFeR! F YR wR s F IR S|
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Region ! &=

2001 2002 2003 2004
East/qd 138 151 164 177
Morth /3R 287 317 339 363
South / giaTom 486 528 560 596
West! FigaT 376 411 433 458
TOTAL/ % 1287 1407 1496 1594

In which year was the difference in sales the lowest among the North and South regions? /ﬁ"_\q T DI

Pt & IR 3R aféur & &5 # Jad & TR U?

® 2001

® 2002

® 2003

® 2004

Correct Answer :-2001

17)

Question Stimulus :-

A circle touches all the four sides of a quadrilateral ABCD whose sides AB = 6 cm, BC =7

cm and CD = 4 cm. Find the length of AD. / Wﬂﬂﬂﬁ

ABCD &1 Yot AB = 6 §¥l., BC = 7 9.

3R CD = 4 . B 9UT T ga 39 IgUT 31 Tt TrY yener $f w=f F=ar g 9 AD Ft TETs i B

n c
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Correct Answer :-3cm /3 3.

18)
Question Stimulus :-

Following table shows the sales (in million liters) of alcoholic drinks in the four regions of
India from the year 1999 to 2004. Answer the following questions using the information

provided. / s1& & T arfert af 1999 | 2004 9% HURA & IR &A1 & AP U F1 9Pt (araf ofiex
#) 9 feErdl 21 < T TFeR F YR R UM & I 1

Region | &= 2001 2002 2003 2004
East/ 7@ 138 151 164 177
Morth / 37a 297 317 339 363
South /gTETT 486 528 560 596
West /! Tiga" 376 411 433 453
TOTAL/ &el 1287 1407 1496 1504

In which year was the total yearly increase in sales the highest for all the regions? /ﬁT\’T Ty & g &=l # fowt ausa o
Fd aId® gl g8 42

® 2001
® 2002
® 2003
® 2004

Correct Answer :-2002

19)
Question Stimulus :-

Find the area of a quadrant of a circle whose radius is 3.5 cm. / ¥ qd & ﬂﬁﬂf-‘l’f Ca) eaaw ITd a%’ﬁ%nz oot
= 3.5 It 21

o 77cm?/ 77 9% 2
o 22/8cm?/22/3 AHt 2

e 154/7 cm?/ 154/7 Tt 2

(38)



e 77/8cm?/77/8 AHt 2
Correct Answer :-77/8 cm?/ 77/8 9QHt 2

20)
Question Stimulus :-

Which of the following statement is NOT correct for a chemical reaction? / IR sifferar
& o e & A 19 A oy 9 TE 2

® Heat may be given out or absorbed. / GCHT 9T a ?ﬁ ST gepell % T GG Bt &1 Jbdl %
¢ Sound may be produced. / & IquT B IPHdt %

® A new substance is formed / T =T tlaT?-f aHdT %

® It can be reversed /a8 HAGPINA (BT T TPl &

Correct Answer :-It can be reversed / 98 SAgshIid 4T ST bl &

21)
Question Stimulus :-

Following table shows the sales (in million liters) of alcoholic drinks in the four regions of
India from the year 1999 to 2004. Answer the following questions using the information

provided. / == € it aiftrerT o 1999 | 2004 TF YR & AR & ® Hg® 99 ot Awt (T AR
#) & femrd 21 & T SFeR! F nyR R U F SR <

Region J &= 2001 2002 2003 2004
East/9d 138 151 164 177
Morth /3 287 317 339 363
South /&g 486 528 560 596
West ! JI¥aa 376 411 433 458
TOTAL/S & 1287 1407 1496 1594

Which region contributed the most to the increase in total sales from the year 2001 to 2002? / G <°33l q

2001 ¥ 2002 9% $d fawl # gfg F1 & e " eiftre anre fear?

® East/ 3R

® North /Uﬁ
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® South / af&ror
® West /Ufi@

Correct Answer :-South / gf&or

22)

Question Stimulus :-

Which of the following is a physical change? / ﬁmﬁ@taﬁ‘—r ﬁ-ﬁﬁ$trﬁfa?f=r%?
® Rusting of iron /?ﬁ% H ST T
® Burning of Magnesium ribbon /ﬁsﬁ&m ¥ WId BT JTdT
® Burning of candle /'Fﬁ'l:l_cﬁﬂ CARCGEI)
® Melting of wax / MY &1 forae=r

Correct Answer :-Melting of wax / {IH &1 fUga-n

23)
Question Stimulus :-

The sac in which the bile juice is stored temporarily is / 98 et Ford U v el =0 § dfa
T 8

e small intestine / &&=
e stomach / 3HIR™

* pancreas / SIAR™

e gall bladder / fomm=m

Correct Answer :-gall bladder / ftmT=g

24)
Question Stimulus :-

Raj has a rectangular plot of land of length 60 m and width 30 m. What is the area of his land? /TSl Cg

URT 60 Hiex TaTs 3fiR 30 Hiex TS &1 YA BT ATAATHR cHhsT 81 YA &1 &rwd far ghm?
¢ 1.8 km?/1.8 fpHY 2

e 900 m2 /900 ez 2

(40)



e 1800 m? /1800 Hex 2
* 90 m /90 Hiex
Correct Answer :-1800 m? / 1800 Hiex 2

25)
Question Stimulus :-

Why is a little of Baking soda added to the dough before baking cakes ? / PP B A tl_b"a 2‘hg'l' T WA BT
reT 13 g¢ ome | w1 firarar ran 82

® To make the cake spongy and soft. / P I Toil 3R FAIH 71 & Q|
® To add colour to it. / STH W T & ferw|
® To make it smell sweet. / SHH HIST GRIF ¢+ & frUl
* To make it tasty. / T TIGY 91 & QI
Correct Answer :-To make the cake spongy and soft. / P DI Toil 3R YATIH I F Il

26)
Question Stimulus :-
< 8 <

If0 = ° = 90° the maximum value for 10cos? ® s Jaflco = = 900,
#t 10c0s2? @1 aftrmad w forar <1 g 2]

Correct Answer :-10

27)
Question Stimulus :-

The small intestine has thousands of finger like outgrowth called villi. What is the role of villi? / &jﬁﬁ i

BRI Sl o) S g § R faeeht g €1 faweh &Y @n yftre gl &2
® Increases digestion / Wﬁq@ml

(41)



e Helps in excretion / 3&TSiH A TeMAdT BT
e Increase the surface area for absorption / 3@=NYO B Tdg &F H Flex BT
e Absorbs water from food / HISH q d B ATMNAT HIATI

Correct Answer :-Increase the surface area for absorption / 3a=Nyol St Jdg &7 | gk
DIHAT

28)
Question Stimulus :-

The desert climate is generally / HR XIS PI ITTARUT IRIX QFT grar %
® Hot and humid / T 3R 3
® Dryand humid / [h 3R 3k
® Hotand dry/TITfGﬁTW
° Hotandwet/TIﬁGﬁ'\’TﬁFlT

Correct Answer :-Hot and dry / TH 3{i¥ J[&H

29)
Question Stimulus :-

In isosceles AABC, if AB = AC and LA = 409, find LB. / T® H’Hﬁﬂ'l‘g’ AABC 'ff, gfe AB = AC 3R
LA = 40°dl LB 91 $3I

e 70°
* 30°
e 40°
® 60°
Correct Answer :-70°

30)

Question Stimulus :-

If x = 2 is a solution of = "= find k / AR x = 2 wfigmw & - Huw

g4 g, dl k Feiferg

(42)



* 1/4
* .1/4

° 2

Correct Answer :--1/4
'S \Q
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